Problem: Find the exact coordinates of the inflection points and critical points of

the function f(x)=
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 on the interval (-10, 10).
Where I’m at: .  f(x)=
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       f’(x) = 
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       critical points 
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        x= -6      (-6, 606)

        x= 5        (5, -725)

       f”(x) = 
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       inflection point    
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       x= -1/2      (-.5, -59.5)

All of points that I found above appear to correspond with the critical and inflection points on the graph. My concern is I can’t find what it means by “on the interval (-10,10)
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